g

(1/0) do/d z
~

=
N

10

Ratio to ATLAS

0.5

13000 GeV pp
L B B I

Relative P, Zg (ATLAS soft-drop observables)

ATLAS

—a4— Pythia 8.308 default

- - Pythia 8.308 tune-4c
IR & Pythia 8.308 tune-4cx |
— T —]
| @ _
L * |
I f [
| I _: _
B i ‘ T 7
— -\ N _ , - # ]
| [ I S EPA _|
| = ;o , AR =
— : Gl ERSE RS N7\
| = N WA, A 4 7% TR R
! Lo Mgy M
| H E] ¥ —
| N [ | | | | |, , |
| T T T T T T T T |

— % <k T T —
fal_ D3 m‘*v = et ik 31 Ix] - '-' AR\ iﬂ-’?
TR LT . Ry . 2 J = T
TA - oL SR TR
B G
I
| 1 " 1 1 " 1 1 1 1 1 | 1 1 1 1 | 1 1 1 1 |

Rivet 3.1.10, = 2.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


